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ABSTRACT. In this paper [1] i will present model that can explain
all Standard Model particles using symmetry and it can predict
existence of new ones that are: anti-photon, anti-graviton, anti-
gluon and graviton, first three are so called dark matter particles
in this model. Workings of particle interaction here are very close
to standard model, symmetry is exchanged (in SM its virtual force
particle) that leads to change of energy state of particles interacting.
To quantize all interaction i use Planck units as natural units, it
leads to normalization without any kind of infinities. Spin is a
rotation of field a physical rotation that is connected to energy of
particle that is equal to symmetry exchange energy of particle.
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1. BASIC UNITS

In this whole paper i will be using basic Plancks units [2], of energy,
time , space and momentum. It means i can write any unit as U = Z—i,
where U is the unit used in theory and Ug, Up are base units and Planck
units. Any natural unit like second or meter can be converted to units

used here by equation:
Vo =TT TT 222 (1
" n m UBm UP" .

Where n subscript means unit put into counter and m means unit put
into denominator, B means base SI units and P means Planck’s units.
For many expressions with other units i need to add sum to it:

U ngU mg
Ungm, ZHH U;g U’; . (1.2)

Where it means i can add umts that are normally would be not com-
patible. And get a unit that is correct from point of view of this model.
Only change is that Planck time and Planck length are defined as
multiply by 27. So i can write Planck time used here as and length:

L = 2nlp (1.3)
T = 2ntp (1.4)

It means Planck energy can be written as without reduced Planck’s
constant:

h  hc
E:T:f:mpcz (15)

Charge does change same way , it is multiplay by 27 so i can write it
as:

Q = 2mqp (1.6)
And temperature is same equal to:
T =Tp = Epkp = Ekp (1.7)

Where kg is Boltzmann constant. Reason those units are multiply by
27 is spin nature of particles. I will quantize space-time so there is
only movement by one unit of space per one unit of time as photon
movement.
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2. QUANTIZING SPACE-TIME

I can create base vectors transformation from one frame to other,
where E is energy of interaction in divided by Planck’s energy, it means
that in each point of space-time there is change of base vectors according
to interaction energy at that point so i can write is as, and anti-field
base vectors written with overline:

¥ =1+ E)i"+ —Ei° (2.1)
1 =F'+ (14 E)2° (2.2)
7= (1 n F) 30 + Ege (2.3)
7 = _E (1+F) 49 (2.4)

Next there is a need for each particle to have a certain geometry in
space and time, from idea of natural fixed units of time and space
there comes a need to restrict value of both space and time component
of vectors to natural numbers. Next step is take spin geometry as a
circle geometry but not one circle but number of circles N that is equal
to denominator of spin number. Each of those circle is connected by
only one point py y4+1 that means first circle is connected with second,
second with third and so on only by one point, last need is that there
is a line that crosses all those points L(pn n+1) it means all of those
points lie on one line, i can write all of this formally a set of points
equal to, where X!, X2 is direction perpendicular to vector field space
part and X? is parallel to rotation vector field space part:

' XN {50 o - o) =t X
M0 (X5 - 0g) = m?, X3}

(x.1) = MS (Xe - o) = et X3
noJ’-m Tm : Tg@ _ m2
A {XTILV} N {X7]LV+1} = {pN,N+1} € L(pnn+1)

N+1
{{arr e n o N H o)

Any vector field that exist in that space can be written as one point in
space of that set and it transforms according to that rule of base vector
change depending on energy of interaction, so i write vector field V¢ as
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and anti vector field V*:

Va(x)/ = Rxoxa (SO)VQ(U Rzoma ((_1)N+1¢>XN)

N (Be4)eUn XN Un (20)eT)

(2.5)

V(&) = Ryoga(g UR DV o))

A@Ex)e-Un XN Un@%)e-TH)

(2.6)

R is rotation operator of normal four dimension space with rotation

around vector space field component V%(x) and time . Where coordi-

nates are rotating with vector field. Points with upper script are equal
o (third coordinate is that one around its rotated):

p}V,N-&-l = (p}V7N+1>p?V,N+1ap§V,N+1 +€) (2.7)
Pf\f,lNH = (p}V,N-l—lap?V,N-&-lap?\f,N-i-l - 6) (2-8)
p]_V,LNJrl = (lev,NH,p?v,NH - Eap?\f,N-&-l —€) (2.9)
p%,N-&-l = (p}v N+1vp?\7 N41 T € p?v N41 T €) (2.10)
lim e (X7) = (0,0, —2¢) (2.11)
XN ﬁpN N+1

lim ¢ (XY)=1(0,0,0 2.12
XA =PN N1 ( )= ) ( )
lim  e"(X2Y) =(0,0,2€) (2.13)

XN =Y N1
lim  "(X2Y) =(0,0,0) (2.14)

lezv_)pﬁ,lNH

Where € is very small number that depends on spin that could be
zero or infinitesimal and (z%) represent space points of coordinate
system where (2°) represents time points of coordinate system so that:

(xn) = (2, 2°).
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3. SYMMETRIES AND SPIN

Base idea is that all elementary particles can be produced out of
symmetries states. There are two symmetries i will use in this model,
that can have positive value S 1, .5, or negative value S_1, S_o. Positive
value means that symmetry is fulfilled , negative that its not. There
are four possible combinations of spin values that can be represented as
a matrix, where v, represents state and can be equal to one , zero or
negative one:
l11115+1 l1)125+2
JU215-1 5022519
JU31941 U252

51141571 §U42572

1 1
§U11S+1 5V12512
1

—§U215+1 5022S+2
1 1
5”315+1 —5032542

(3.1)

—%U415+1 —§U425+2
Symmetry number for a given system is equal to sum of this matrix
elements S = > Sy, if first symmetry is fulfilled it means that
system is massless Fy = 0 second symmetry is fulfilled when energy
states change so for given system there is not one energy state E but
many £, and they are not equal (Ey # Ej... # E,), when first symmetry
is not fulfilled then system has mass Fy # 0 and when second is not
fulfilled all energy states are equal (Ey = Ej... = E,,). Spin number [3]
for a given system is equal to its absolute value of symmetry |S| and
from it i can create symmetry-spin function p(¢) that has N = ¢ states,
N part of function represents /N spin probability state. For bosons i
can have states of spin number that is equal to N = 2|S| + 1 where
they go from positive spin |S| then positive spin |S| — 1 and so on till
they get to zero (|S| —n = 0), then they go from negative —|S|+n # 0
till —|.S| + 0 and for fermions they go from |S| to |S| —1/2n # 0 and
then from —|S| + 1/2n to —|S| + 0. Where for bosons |S| = 0,1,2...
for fermions |S| = 1/2,3/2... ,each state has one where column number
is equal to N state. So its not one vector but N vectors for spin 1/2
particles its N = 2 where they get positive and negative spin states.
Generally N is number of all states, for bosons its easy to calculate its
just N =2|S|+1=2p+ 1 where |S| is symmetry number, for fermions
its more complex for each spin state there is one number so if i have
N states where N/2 are positive states and N/2 4 1...N are negative
states this number N is number of all possible negative and positive
states. It connects to spin number by |S| —1/2n > 0soiget N =2p
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where n = 1,3...,2p — 1. So from spin number i can get possible spin
state number by (subscript F means fermions, B bosons):

_f122p—-1)Ap>0
& {1/2(2p FOAP <0 0g19vs, <is00) &
Yo, = P AD € Z|_ 5001 2vp, <I5(0) (3:3)
Where angle 6 is defined as for spin state ¢ for fermions:
Gk(¢)p(x)‘mg+§$%””j _ { Or(g)(x) = +0(x) = ¢ =1,...,N/2 = (Y, > 0)
@ Or(o)(x) = —0(x) > o =N/2+1,...N = (Yp, <0)
(3.4)
For bosons its same but i need to add zero energy state that is equal to:
o <o Or)(x) = +0(x) = ¢ =1,...,N/2 = (Y, > 0)
Oy ()| = { Ore)(x) =0 — ¢ =N/2+1— (Yp, =0)
ko)(X) = —0(x) = 6= N/2+2,. N+1— (Y, <0)
(3.5)

Positive angle represents positive spin Y, > 0 state and negative angle

represents negative spin Y, < 0 state. So i can write full angle as:
204820 .

e toan i (2 + 020, x®) — f(x) e 26

z0 N 0x0 ( . )

0(x)

T
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4. SPIN FORMS

Now i can combine spin with space-time geometry. Lets say i have
a tensor field, that has property of going back to its initial state after
rotation by 2?“ where s = |S| is spin number. It rotates by angle 6 that

comes from spin state, for any spin number i can write it as s = &

h

where h is number of vectors and N number of spheres. So angle of h

vector is equal to:

Rg =R" (Soh)

1 1
RO RO
1
B
0 1
Rj R}

&
—~
©

S~—
I

el e e N

=y
O

And for anti field it is equal to:
Eg = R (@h)fofa é (w)
Eg = RT (@h)iof“ F}T (w)

5!
>
s
Il
e T e T ==
jay)
IS
=

e

From it i create spin operator for spin form that is equal to:

~

2ﬂh—n)

g = R (Soh)mox“ PAZ (w)qup

1

z0za

R (w)

Fy (@)

xdxP

z9zP

ziZP

—_ e e

—_ = = =

(4.1)

(4.2)

(4.3)
(4.4)

Spin form is defined as a pseudotensor that does transform this way
when rotated so i can write spin form transformation rule as :

o*P(x) = ZFhJaﬁ UF ((—1)NJr1 <,0> xy | FF

By)eUn X Uy (20)€T)

(4.9)
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Where spin form is equal to:

74 = (‘quny
)
)

(
(x
nngk’l (X
oy (e

n,m i,j#n,m

Vab

nmzy ik \X

And same but for anti-field is:

70 (x) = Y Fro™ (UF( 1)V )N) 7

Where spin form is equal to:

B "(%)

(X) = ( 5(x)

_ab Toijn(X)
=2 2 (g

5% (x)
) am
I?Ll:nz]kl (%) » (411)
x%?m]kz(x) .

Uy X Un@)e-TY)

(4.12)

E@g)e-

(%)
Vaﬁ(§)> (4.13)
T i (X)

() | Y
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5. ENERGY FROM SYMMETRY EXCHANGE
I can write energy and angular energy for many bodies as:

B[ (g |3 3 St

Tl x .. X
oo i i (X)

()|t emmm®) — pe ) |33 ”m”’“lx (5.2)

Tl X
n,m i,j#n,m nngkl )

x +xnmij ( nmz
T =ven Y J’“’X (5.3)

T X
kl nm i, j#n,m nmz]kl

):BliriL"nmijkl( £k 1) Z Z ”m”kl x) (5.4)

T X
Kl nm i, j#n,m nmzykl

E(

Ju(X

Where function f(k,[) and V(n,m) is equal to (sgn is signum function):
( l=k=I Y, =Y, >0
= k=IAY, =Y, <0

—1=k#INY, <OA f(l,k)

FU D) ={  —1=k£IAYy <OA f(k 1) (5.5)
l=k#INY, <OA f(k,1)
L=k#INY, <OAf(l,k)

O:>Y —OVYkPIO\/Kp:Ykp:O

( sgn(Snmijrr) AV (k, k)
sgn(Snmiju) AV (1,1)
Sgn(snmijkl> — Snmz'jkl = Snmijlk A V(ka
V(k7 l) = Sgn(snmijlk> — Snmijkl - Snmijlk A V(l7
-1 Snmijkl 7é Snmijlk A V(l{?, l)
—1 = Sumijkt 7 Snmijie NV (1, k)
0— Snmijkl - Snmijlk: =0V Snmijlk =0V Snmijkl =0
(5.6)

Electric field created by charges energy is equal to (where « is fine
structure constant [5]):

Py (30) [ 7 ) = gk, 1) QR (x) (5.7)

Tl

|+ = sgn(Qri(x) = sgn(Qr(x))
atk,l) = {— — sgn(Qu(x)) # sgn(Quk(x)) (5:8)

l)
k)

\
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le (X) ’xkl+xnmijkl(x) —

Tkl

i Z Z Snmijkl (X)
0

|Skl| n,meQs#i,j i,jEQs#n,m xnmijkl(x)

Qs={{21}.{2.2}.{3.1}.{3.2} }
Energy and angular momentum must be conserved so i can write it as:

3 <E,§l +§il) =0 (5.9)

kil

. =2
> (J,f, + Jk,> =0 (5.10)
k,l
It does apply to electric charge so i can write it as:

> <Qiz + @il) —0 (5.11)

k.l
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6. PARTICLES OF STANDARD MODEL

From symmetry model i can map all particles of Standard Model [4]
to symmetry states. I will use a table with matter ( symmetrical state)
and anti-matter (anti-symmetrical), where i use matrix .S, elements
with v, states as a sign :

Elementary Particles
Particle Matter State (symmetrical)
Photon +S511, +S512
Electron/Muon/Tau —S11, +521, +52
Quarks (up, charm, top) —S11, +S12, +521, +551, —S39
Quarks (down, strange, bot-|+511, —Si2, —S21, —S31, +S32
tom)
Graviton +511, +512, =941, =S4z
Higgs Boson +511, —S12
W Boson =511, +512, =521, +52
Z Boson +S41, +Sa2
Neutrino +S12, +S41, —Su2
Gluon +511, +512, —S41, +S42

Elementary Particles

Particle Anti-Matter State (anti-
symmetrical)

Photon —511, —Slg

Electron/Muon/Tau +511, —S21, — S99

Quarks (up, charm, top) +8511, —S12, =521, —S31, +532
Quarks (down, strange, bot- | —Si1, +S12, +521, +551, —S39

tom)

Graviton —S11, —=S12, +S41, +S42
Higgs Boson —S11, +512

W Boson +511, =512, +521, =52
7 Boson —Su1, =S

Neutrino —S19, —S41, +S4

Gluon —S11, —S12, + 541, —Suo
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7. SYMMETRY FIELD

Symmetry field is a tensor field that goes in all possible paths , i can
write it as sum of integrals with probability amplitude Ay :

ZS;E(X) = Z ZZAw(j'?ZB(ZEa+€XPW,IO+€TPW) (71)
w

W | Pw ki
Probability amplitude is equal to number of steps of time and space:

p(o) 2ory (EXPN i GTPw>
26 0(0) > (ZPW (EXPW N ETPW)>

Symmetry field has an anti-symmetrical state that has to be represented
same way as, where overline coordinates are with minus sign of normal
coordinates:

SSNE =D Y Awry (= e, T en,)| (73)
w

w | Py ki

Aw =

(7.2)

I can define amplitude for anti-symmetrical field as:

- 50) _ Tr (Exn, +em,)

Ay = s (7.4)
>-sP(9) S (ZPW (gXPW +ETPW)>
For both field probability of path Py is equal to:
p(Py) = A% = L ) S (EXPW . ETPW) (7.5)
Zd) p(¢) ZW (ZPW <€XPW + ETPW>)
p(Py) = Ay = 2O ol (EXPW +ETPW> (7.6)

_ > P(9) S (ZPW <EXPW +ETPW>)

After measurement field changes state from sum of all states to one
state W with one path:

p(Pw,¢) - Aw > SiP(x) 2 Si (x) (7.7)

p(Pw,0) : Aw > S (%) % 5 (%) (7.8)



SYMMETRY FIELD IDEA 13

8. CONSEVARTION LAWS AND EVOLUTION

There are five simple conservation laws that say what event is possible.
Conservation of symmetry for field and anti-field and conservation of
symmetry field with anti-field symmetry :

. -2
k,l

Energy of field and anti-field conservation and angular momentum:

3 <E,§l +Eil) =0 (8.2)

k.l

. =2
> (J,fl + Jk,) =0 (8.3)
k1
And finally electric charge conservation:

> <Qiz + @il) —0 (8.4)

k,l
I can create a scalar field out of it that density Lagrangian is equal to:

D Lw =) > VIS — [ D Sk + B+ Jn+ 9 (8.5)
w k.l

W ap
a o= -2 —2 -2 =2
ZgW:ZZVSW_ Zskl+Ek1+Jkl+q)kl (86)
w W ap k.l
So equation of motion is:
S ew+ Sy =0 (8.7)
w

After measurement field density changes state from sum of all states to
one state W with one path:

PP, )Y Sw = S (8:8)

p(Pw,8): > Lw = S (8.9)
W



[1]

2]
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